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(1) BEmOREITE, KMRENEK (B%iROTreset) :
FUZHOU_S12510-probe]dis int ten 1/0/0/39

Input (total): 0 packets, 0 bytes
0 unicasts, 0 broadcasts, 0 multicasts, 0 pauses

|
0

Input (normal): 0 packets, - bytes

0 unicasts, 0 broadcasts, 0 multicasts, 0 pauses
Input: 0 input errors, 0 runts, 0 giants, 0 throttles

0 CRC, 0 frame, - overruns, 0 aborts

- ignored, - parity errors
Output (total): 0 packets, 0 bytes

0 unicasts, 0 broadcasts, 0 multicasts, 0 pauses
Output (normal): 0 packets, - bytes

0 unicasts, 0 broadcasts, 0 multicasts, 0 pauses
Output: 0 output errors, - underruns, - buffer failures

0 aborts, 0 deferred, 0 collisions, 0 late collisions

0 lost carrier, - no carrier

(2) 1/0/0/39/FEiRAEBEXE14, BEXel4R NRERSE, THiHcounterfISBEREFLET :

[FUZHOU_S12510-probelbcm ¢ 1 s 0 ¢ 1 show/c/xe14
NOTE: counter collection is not running

[FUZHOU_S12510-probelbcm ¢ 1 s 0 ¢ 1 show/c/xe14
NOTE: counter collection is not running

[FUZHOU_S12510-probelbcm ¢ 1 s 0 ¢ 1 show/c/xe16
UC_QUEUE_PEAK(3).xe16 : 1
NOTE: counter collection is not running

(3) TElocal logbufferdrEXd 728 10 Hfparity erroriiis :
Feb 09 2020 16:22:12:741777:
LINE:1160-TASK:DPC1-FUNC:DRV_SDK_ Printk:
unit 1 RX Debug Counter port 15 RDBGC6 entry 61463 parity error

Feb 10 2020 01:27:39:974603:
LINE:1160-TASK:DPC1-FUNC:DRV_SDK_Printk:
unit 1 RX Debug Counter port 15 RDBGC6 entry 61463 parity error
BRI TR R Sparity error, 2—FUS R, XFRIBIRENE.

(4) BAEEEEY R counterkilingressillegress HRIIFNER, &b<iRHparity error, THEIZ
£RIMBNE, BANE:
1) ING_SERVICE_COUNTER_TABLE_x:
[FUZHOU_S12510-probe]becm ¢ 1s 0 ¢ 1 d/chg/ING_SERVICE_COUNTER_TABLE x
ING_SERVICE_COUNTER_TABLE_ X.ipipe0[0]: <PACKET_COUNTER=0xf3fb6e3,EVEN_PARITY=
1,BYTE_COUNTER=0x1b573e750>

[FUZHOU_S12510-probelocm ¢ 1 s 0 ¢ 1 d/chg/ING_SERVICE_COUNTER_TABLE_x
ING_SERVICE_COUNTER_TABLE_X.ipipe0[0]:
<PACKET_COUNTER=0x10dea912,BYTE_COUNTER=0xa54€490c6>

2) ING_SERVICE_COUNTER_TABLE:

[FUZHOU_S12510-probelbcm ¢ 1 s 0 ¢ 1 d/chg/ING_SERVICE_COUNTER_TABLE
ING_SERVICE_COUNTER_TABLE.ipipe0[0]: <PACKET_COUNTER=0x17273f0b,BYTE_COUNTER
=0xbc25480bc>

[FUZHOU_S12510-probeJocm ¢ 15 0 ¢ 1 d/chg/ING_SERVICE_COUNTER_TABLE
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ING_SERVICE_COUNTER_TABLE.ipipe0[0]: <PACKET_COUNTER=0x179cd864,EVEN_PARITY=
1,BYTE_COUNTER=0xe33/072ab>

3) EGR_SERVICE_COUNTER TABLE x:

[FUZHOU_S12510-probeJocm ¢ 15 0 ¢ 1 d/ichg/EGR_SERVICE_COUNTER_TABLE_ x
EGR_SERVICE_COUNTER_TABLE_X.epipe0[0]: <PACKET COUNTER=0x4830be8,BYTE_COUN
TER=0xe886€4306>

[FUZHOU_S12510-probe]ocm ¢ 1 s 0 ¢ 1 d/chg/EGR_SERVICE_COUNTER_TABLE_x
EGR_SERVICE_COUNTER_TABLE_X.epipe0[0]: <PACKET_COUNTER=0x49c7f4b,EVEN_PARIT
Y=1,BYTE_COUNTER=0xf11c48b9c>

4) EGR_SERVICE_COUNTER_TABLE

[FUZHOU_S12510-probelocm ¢ 1 s 0 ¢ 1 d/chg/EGR_SERVICE_COUNTER_TABLE
EGR_SERVICE_COUNTER_TABLE.epipe0[0]: <PACKET_COUNTER=0x175d0964,EVEN_PARITY
=1,BYTE_COUNTER=0x446bab332>

[FUZHOU_S12510-probejbcm c 1 s 0 ¢ 1 d/chg/EGR_SERVICE_COUNTER_TABLE
EGR_SERVICE_COUNTER_TABLE.epipe0[0]: <PACKET_COUNTER=0x1775ad4d,BYTE_COUNT
ER=0x4cbb52738>

(5) BB Fparity error SEUHK XS RIG HANTHEHTERE X,
WRRTTIE

BERMMERREMS FRIEEEREBTERNIESIparity error,
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